Note: given the fact that you’re ‘obliged’ to answer the weekly questions, try to profit the most from the task:

- Start by reading the lecture notes (twice).

- Looking at them as little as possible, answer the questions.

- You should hand me the answers to Week 9 on Thursday’s lecture of April 26th.
 - The answers should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.

Please write WEEK 9 in bold at the beginning of your answers.
Week 9: Replacement of MP by FP
1.a) Using a scheme, explain the operations that occur between the CB+Gov, Institutional Investors (I.I.s)/household savers and banks, when I.I.s/household savers sell massive amounts of TBs and the CB buys them up.
b) Present the changes that occur in the balance-sheets of the three parties involved.

c) Explain the consequences in terms of:

(i) the form taken by public debt,
(ii) the quantity of money in the economy.
(ii) the amount of excess reserves if the required reserves ratio is 1%.

2.  a) The fact that the amount of money at the disposable of households has increased in question 1 is unlikely to lead them to increase consumption. Instead, it is likely to be applied in another form of saving. Why? Which is that other most common form of saving?
b) Suppose now that the quantity of money at the disposable of households increases as a result of them getting bank credit. Will that increase in the quantity of money lead to an increase in households’ expenditures? Explain.
c) In which case will the increase in the amount of money at the disposable of households in question 1 lead them to increase consumption? Explain.
d) If that increase in consumption happens to raise AD above FE, under the alternative policy framework presented in the lectures inflation will not increase. Why not?

e) The amount of money households obtain when they sell government bonds Why?

3. By now, assume away foreign investments. 

a) What are the possible destinations of the amount of money obtained by I.I.s in question 1?
b) If I.I.s happen to buy assets, what are the three different destinations of the money received by the asset sellers?

c) These destinations are unlikely to include consumption. Why?

d) The amount of money obtained by I.I.s in question 1 can start or feed asset bubbles. How?

e) How can authorities contain those bubbles?

4. If the maximum proportion of the total value stocks bought with debt is reduced from 

50% to 1/3, and investors maintain the value of their own main they use to buy stocks, by how may percent does the total value of stock purchases fall?
5 a) In an economy with a constant nominal GDP growth of 8% and a constant budget deficit of 10% of GDP, the debt-GDP ratio will tend to which value? Explain.
b) Why can possible asset-market bubbles resulting from a public debt of 200% GDP  be easier to contain than those resulting from a public debt of 2000% GDP?
6. a) If the price of US tradable goods is 1$ and the price of eurozone tradable goods is 1.2€, and today 1$ is equal to 1€, what will happen? Explain.

b) If the long run is five years from now, what is the expected change in the value of the euro per year? Explain.

7. What is the effect of an immediate x% depreciation of the $ on the expected subsequent evolution? Explain.
Note: This is a ceteris paribus argument. Therefore, whether the value of the domestic currency ($) was initially above, equal or below the value to which it is expected to return in the long run is irrelevant.





…
A question to review the main ideas of the lecture:

8. If public debt is transformed from government bonds to into bank reserves:

a) What will happen to the quantity of checkable deposits in the economy? Explain.

b) Are households more likely to use the newly acquire money to fund consumption or switch to another form of saving? Explain.
b) If I.I.s use the newly acquire money to invest in the real-estate and stock markets, what are the three next possible destinations of that money? Is consumption among these destinations? Explain.
c) If I.I.s use the newly acquire money to invest in foreign bonds, what will happen to the exchange rate?
d) What will be the effect of the change in the exchange rate on the total amount of foreign bonds investors will want to buy?
